
PR to PROS CONVERSION
Pressure Reducing to Pressure Reducing with Outside Supply

Item
Description

110*
DIAPH STABILIZING BUNA-N

147
BREATHER PLUG 1/4 NPT

1701
PILOT HSNG 230 SGT DUCTILE

2021
SPACER RING USDP

4297
SEAT EXTENSION 30 PG PILOT

2512SS6
TUBE 1/4 316SS 7 3/8 LG.

7671
BOLT CSHH 3/8-24 X 3.5 GR 5 ZP

875
ELL 1/4 TUBE X 1/4 NPT STEEL

699
PIPE PLG 1/4 HEX HD GMW3044ZN

Qty

1

1

1

1

1

1

4

2

2

2”

Item
Description

110*
DIAPH STABILIZING BUNA-N

147
BREATHER PLUG 1/4 NPT

1701
PILOT HSNG 230 SGT DUCTILE

2021
SPACER RING USDP

4297
SEAT EXTENSION 30 PG PILOT

2529SS6
TUBE S6 - 13 3/8 LG.

7671
BOLT CSHH 3/8-24 X 3.5 GR 5 ZP

875
ELL 1/4 TUBE X 1/4 NPT STEEL

874
CONN 1/4 X 1/4 NPT STEEL

Qty

1

1

1

1

1

1

4

1

1

4” RRO
4” REPAIR KIT

Item
Description

110*
DIAPH STABILIZING BUNA-N

147
BREATHER PLUG 1/4 NPT

1701
PILOT HSNG 230 SGT DUCTILE

2021
SPACER RING USDP

4297
SEAT EXTENSION 30 PG PILOT

4306SS6
TUBING 1/4 OD 316SS

7671
BOLT CSHH 3/8-24 X 3.5 GR 5 ZP

875
ELL 1/4 TUBE X 1/4 NPT STEEL

Qty

1

1

1

1

1

1

4

2

6” RRP
6” REPAIR KIT3” RRM

3” REPAIR KIT

Item
Description

110*
DIAPH STABILIZING BUNA-N

147
BREATHER PLUG 1/4 NPT

1701
PILOT HSNG 230 SGT DUCTILE

2021
SPACER RING USDP

4297
SEAT EXTENSION 30 PG PILOT

4251S6
TUBING S6 11 1/2 LG

7671
BOLT CSHH 3/8-24 X 3.5 GR 5 ZP

875
ELL 1/4 TUBE X 1/4 NPT STEEL

874
CONN 1/4 X 1/4 NPT STEEL

699
PIPE PLG 1/4 HEX HD GMW3044ZN

Qty

1

1

1

1

1

1

4

1

1

2

RRM
2” REPAIR KIT

Kimray Components Kimray Components Kimray ComponentsKimray Components

*Diaphragm not needed, if repair kit is used during conversion.


